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A, BEAANENSE:

| .Speaking about Familiar Topics

Task I  Free-choice

KIENMABDFTAE
Task 2 Paired-choice

Il Speaking about Campus Situations
Task 3
Task 3

Student-related Problem & Solutions
[11.Speaking about Academic Course Content

Task 4  Term & Examples

Task 6 Summary and Paraphrase

B. HEHBAA WA ERA G S
| .Independent Tasks

Task 1 Free-choice
Task 2 Paired-choices

Nit 1 &4
2% 13648
1. Prefer A or B 45
2. Agree or Disagree 39
I[ Integrated Tasks

HAM (HZoRAHM)
i Reading — Listening — Speaking

U E A AR
Task 3 Campus Issuc & Student’s Attitude 4 B #F FL 4
Task 4 Term & Examples 28 AR AR
ii Listening — Speaking o .45 AR
Task 3 Student-related Problem & Solutions
Tansl- A Curisrnian e v memd Mnvnaalhcnnn

ok B A AR AT

hIrr M 2L A 2k BR
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AR, T, AL EAR idea (A, %ﬁ»s %z R dfotn
— Task 1-2 "
1. RZA BfomT ). %g%
( meet the N ﬂ
requirement of i, lagk 3-6 ifE 5.8,
ks | . & a% ERE R HEE
the task ) - kS = | 6 'f"%j}’tfigﬁ EER
%
AR —~ & B A AR . 12479 ( common connecting ,f-;%-\g . RS
- & F i 439 K .
2. HE words and phrases ) —iZ 4} % % 5 #7 (has a clear defined ) :L
5 i = 4 sk 3+ 3 #s‘/]\é"];f- AL E A Tiﬂ}{
(organization) | structure ). 15258 f 2. Fubrsfitid (clearly connected
. " ( dlsoréznuzed ), AVIIDEE
1. $AZE sustained ) — 1§ 5
R (P8R ?‘531
| EEMAY, Wik, RARAS Y. LAY ®
o ;.;Q- © %
9 Ak i 8 AR
2. B R H5 R simple but elegant JHRSE: S in‘-‘%ﬁ‘-a*‘m i T &k
ODECT 1, SAMERIERE. AR
@.479 (vocabulary ): 4 %: #EE Y, (simpleand | AL, & %ﬂi&i—i’:"é’] Y
correct ) g
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@38 (grammar): % 5 f44), 2ERENMA g
KA A ST A egut A
ik K TR R A A TR KE ik R it e,
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2. ¥EEF | 1.
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e K FHUE & E2e) N, R kev words — & 4 AL ik &
2. RARE L U
T AL AR,
(fluency)
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Rty (b, k. @30~

SRR CERA VE—F K-
g
B
7% — 83938 &) Atk

§~1‘ﬂ—-,f&ég;‘?nél.—~ Fokisl,
e TS, %%mazmﬁ.ﬁaﬁﬁm
AXFT3IHGPE. 74249, (avoid frequent pauses ) z
1. #&F4£%: (goodpronunciation). T&F48:%. %
12%
2. ok F B (clear ): ;!
(1), FEhTHR-FEFAF. X5 (HLEANR, g
BRRETH A~ FEREEK). b
%
O FEE. RATSA A YA PE ~ 2%, TR
A ABBHR. RARATRERLETEL (HATH
"

KPP, REA A4 fide). AT, HILK
. REMAE A . A4 £ — confident — A K AT

RR-AABR, AAAETF. TEXRE-HKF. &

KK F . EEE

R, AAHIRAL.
(2) . afFH|I,

A
L)Y
%
ES S U LS
3. REKIAR ~ AR~ EL. BA. REKFH. 7% | B4R 52 THH%.
K. &G, B BARA. %
4 B WHETE~E

IR e — (AT .

5. F2&%. 4T4F—i#E 5 A% (natural thythms ).
AR, R FHehk R HliE ik,

6. TE—-NE: (iEE.
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Task 1

Describe a job. career or profession which you wish to pursue. Explain why this j&b is your ideal
Jjob. Include reasons and details to support your response

Task 3

[~ A1&iX): health center #4¥)
2T, BAERA L

overworked 7

E3
N
i
&
[
"
®

&
LEHBALEREFSFRA, GLHPESELT, €2 4%
FTvAde b 7 &

it &
A BwEd 2. RRELRREL
FAKEYL Fe)Rx i, health center A 2T . A E 4 A% space 13 808,
i

%

1)?:

=

FHAR.
FROFAERARKT S, XEWA KL happy. o 04 FK—
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Task 4

1

[ 44258 6] ) v, wolves #» mice #0828 Z A0 %5% 4 %), 3% A3t population size
K

b
=
<
b
Z
[
[)

[ 2394 ) —/ ecosystem ¥ . prey 4 predator Z[5]44 population %41 & %} 5!

v

J.

=
™
o

%‘5_1 phases #
1. Prey (mice) %, predator (wolf)

0
i
"
%
N E3
A4 F A, (wolf) population % 7a ié
&
2. Prey (mice) ¥ 7, predator (wolf) ®4%:4Y T . (wolf) population i1 ﬁ;
%
3. Population F# T 5
v%.
(=
¥
Task 5 %

£ @MY H A4S WRITF 4 visit museum K4 AR art class #£X (9 R museum Al?r?fi%losed A
%S
=}
fof kX% LR 2
=)
EA

[#: k%5 %]) 443 1. miss the class tonight. 2 museum. B k4 FEF %04, 2. to Ezélk with
?‘3

professor of art to postpone the due date. $ 4t #Ixa AR, #HA FAB R A, 4! ‘%'Jr}fl A+
%
. 7 RVA
i, gAY %
&
L
®
Task 6

reinforcement #= negative reinforcement & #. 454
= L

You must get up early to go work..
TERFA, Hik g TF&, A Bk positive: add sth make you happy. &4

a

2

E

&

. B4 giving A 4

%

positive reward, You can reward yourself by delicious breakfast, #%ik f - #2. Negative: n
remove sth that make you unhappy. &

remove negative things, change the shower time
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Task 2

examples to support your answer.

=3
Do you agree or disagree with the following statement? Young people today cf%re more informed
about the world events than their parents when they were young. Use speciﬁ% reasons and

£
W
5!
15
T
2
%
A
B
&
il
{3
D ‘
g
%
5
7
Task 1 ‘%
=
What do you think is ONE of the most important characteristics that a good teache‘% should
have? Include specific reasons and details in your explanation. |
Task 2

c
2
%
2
(=1
2
2
%

8!
Do you agree or disagree with the following statement? While choosing friends, peopleﬁghould
A

always choose those who have different interests from their own. Include specific reas@?s and
examples in your explanation.

B

Task 6

oy

[
&
[#i£% 5] Marine animals protect themselves by producing lights. There are 2 ways:

R

oRt

sudden flash bright light: #<#]:When they are under attack, deep-sea shrimps will give a

<

sﬁort

%
period bright light to frighten the attackers. and deep-sea sea shrimps can escape. % X—

Hus

L)

constant flash bright light: ##/: Since their predators always hunt animals by judging dar

B

-

shades. hatchet fish give constant light to make themselves seem like sunshine. By doing this%
5|

their predators can hardly find them. %
)"

%

&

N
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B
=
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[

{
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Task 1

Describe a special gift you gave to some else. Explain why it is a special gift?
support your explanation.

Unclude details to

Task 2

7L0
B

%

pA

%

=

When you earn a little extra money. is it better to spend your money or is it bettegito save your

= &

8

money for some time in the future? Use specific reasons and examples to support ﬁ;mr opinion.

3
(=
)
3
g
Task 3
[F4d@]) HTPieFEitR: 1. REBHLeIT, KT
K.

W
s}
fekr. 2. MAH A air—condi%on i
[FA5AY LaRMb R Bd 1 FREGRFREZGRS TR IR RAS]
felT Ko, FAE]

pr

T EIAR] Q%'J ¥ 'ﬁ?
[}
ReEEE A

L&}

ae 3!
FAEILIFA 6%$h 2 2, wRAHEH, in hot day, B H483L 74 comfortable,
7. REAS RBEEAKRY
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. FTARMEESE D).
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Task 4 %
3
[ %3984 ). Human behavior consists of a serial of simple behavior. # *%% # # %" behavior
S
chaining (fTA%41). AMKEACHETF—HF. % complex activity 7 B K—B—F 3, wMLEF
2
HEREE. %
[HURA 6] — A HI2 ok = % 694 )4 T4 F wash hands. £ it 4% action )s%break down # &
0
¥ % steps. 1. 4TF KAk turn on the water: 2. wet the hands; 3. put som%soap 4. rinse
ll7~
hands: 5. turn off the water. #U4ZA—F—Fifdc)Lnmahtk, A4 )&—“4‘7@"7‘ B Ao T
% 2
—AEtE. RERAA HERERK, Rl F 2T FT. HXMEHEHO é%ﬁﬁ%
%
g
Task 5 %
[FAEE) FAHRELAIM— job interview. 7 2 pie i
[BAFEYL FEHLATHEBIFTE: F

suit ZLAET .
£ 1.

£ ¥ A roommate 47 %
L5 %. #.5)0 big. looks sluggish. 4 # % roommate #)9 % & Ahu @ik,

TRIRKILAFET
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Task 1

2
¥
Which technology has made the greatest impact on people’s life in your coun%;y? Airplane,

=3
. . . 2
computer or television. Use specific reasons and examples to support your resgonse.

k!
5]

¥

Task 2

%E\

ﬁﬂwﬁ\é‘m‘\

S
Some people believe that it is better for children to grow up in big cities. Others beligve that it is

. . - - . =
better for children to grow up in small towns or rural areas. What is your opinion argd why? Use
specific reasons and examples to support your response.

Task 3

<
o
2
H
g
5
<
%
g
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5
%
%
®
ju
%

1
A T . . . . . . %
[F#:8 4] the university is considering moving the student theater center from campué@o the

W

H
nearby downtown. #f4 1. downtown theater has a larger space, and it can contain mo%
audiences. ¥4 2. the new theater will have better technical facilities, so that students caff.get

=

[
better light and sound while they are appreciating performances.

)
e
)
=

3 . y . i
[F4A54) H4ARMITR. #d 1. audiences in the downtown theater are mainly student&

It is quite inconvenient for them to drive for 20 min to get there to see performances. so few

2
S
&
g
3

=}
2

them would like to go to the new theater. ¥ & 2. the facilities in school theater are quite basics

and easy to operate. However, students are not professional and well-trained, and the facilities

g

W

5|

%

&

in downtown theater will be too complex for students to operate. So, students might end up with ’Z}i

*

N

N2
worse lights and sounds than what they have now. So, better facilities are not necessary. 2
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Task 6
[#R& 5]

ot
B
s

©

S

2
2 stages of children’s social development in playing: Stage }; associative play:
if some three to four years old children play together with same material,

2
=)
)

z
t%ley think and
behavior in different ways. For example , while some 3-4 years children are®playing blocks

together, little Johnny may use blocks to build a car and little Mary may use %ooks to build an

5!
airplane. Stage 2: Cooperative play: if some four to six years old children play %gether with the

Z

LY
same material, they start to cooperate. For example , while some 4-6 years chilzf[en are playing
3
blocks together, they may create a house together. They may discuss about how#it should look

P

(/8
like, how many rooms it should have and how the roof should look lil;éo
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Task 1

1S
=3
B
What benefits will you have if you attend a university or college in a foreign c%)untry? Include
reasons and details to support your response.

Task S

7L0
B

*
pA
%
&
W
LS

f

2=
=
—

(54 ®E%) B 4F A6 psychology study group A ML#E: FKieA x— 44151 #) dpartment £
=

L.

(=
have dinner. /&% 3. %&iff ‘£ifist % cook. It's his turn & X, ¥ £ 4L studied in the liE@ary all the
=
[#AE5%) SAHTHERIFE: 5% 1. £HiE6) restaurant buy #H £ F @K
. B AR AR

afternoon. St 48, 24 3 MAMIRT . A2 SR RARE cook T,

a

de >
5K,

L

o
B

B A4 6 i~ AFE 4L too expensive. i H g5 2.4
LR E MM, FE 2. T

mﬁﬂmg fr ey

S
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7
{=Ra=)
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23

FEYROMF T, sk

i
group members, ib#efi1%—.& K4 apartment, & i @l}ﬂ 45
3

N1

BUR, ‘2 HTRERLAR W, KESMRA, HTRIRHESGTeT
Task 6
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g
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2% 5 ) AKE K survive, & % insects £RAHF mimicry[ mimikri]: % —*F. 4R & predator

z
=
k)
S
44 predator. look dangerous. %°Fst predator. #4l: ## fly & & KA 4E sting #) bee. /-

=
>

L. 428 £ AT bigger T, '€ 694 &4 think it is dangerous, 3t & Z€ . § =4 A F & preda

ZLOG“‘&;(W“Z

tof?
g
moth % & jumping spider. %4k color 5 jumping spider ¢744F). A spider ¥4 A€ 2 friend. st
FKET.
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Task 1

Describe the steps, through which you once learned a new thing and explain Biow you learned it.
Please include details and examples in your response.

Task 3

=it

%

[:t.x_
i)
T

[F 4 &) — 5455 8E BERS — A H8FR § #+ K limit the numbeg of books
=

borrowed from libary, 3 1. K3 #FAL—AHERS BATLA, B 2. FSAFGHMNRK, £

LEEH, YR ARS, :

2
WHTA VB PEE4FEPe958 .,
[FAE5A) AR, 2d 1. TE

=

2

a

eanEnu?

2

f%. she has 4. 5 {"1iX many lessons and have té&research,
™
EA
#. use lots of books when writing research paper,—X# % %% 20 K4 so she needs m%}y books

5
i
atatime.. FiAit ZieBEE L 54, a2, BREEIHHAL LT uust F4., é’ﬁlk?ﬁé‘ﬁa%éﬂfi,
2424 #% never lost or misplace any books. she think school must trust its students c%éz they
are adults.they can take gooq good care of the book they borrowed.
Task 6

=1

]
LS
fa

oq 108 1

[#%%5 ) 4t & A% early human A TRE. % T Fiahin, KT X to keep the firg
burning % & A B #F & two ways: T4 1. technological knowledge,

FAEKREAEKAREA, 2EEEA, RAELEKAKRT fire dieout. HAMNBALKILK K w

AR EPHAEKLE,
2

ol
H %R —# fuel ik K — ALK, & keep fire burning, % K £ RiF40 Rk add wood. FK 2. soci

4

%

skills. 4R XRRMMEILAHE, KHARE. KTLRAATRH (—EAFsleep T, B —EARBA A
%

K ) A A3k take turns to look after the fire to keep it burining all the time. Cooperate. coopration. \éé
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Task 2

Do you agree or disagree with the following statement? Students should do s8me some work

like part-time jobs before attending college. Use specific reasons and examples'in your answer

Task 3

[ A Y — A% 4 A ARIR £ B 183X H . il 4T 538 KR 4k 454 ] increase timethetween
classes from 10 m to 20 m.. &1 1. M—PHF F| 5 — I
£ %] may be late for the next class, cannot arrive on time

3
ME+ AP AR R AL FE;%L E W S
S
i 2 %&ﬁﬁm%@m%kﬂmk
F 4 IR 9R F 17 £ % )8 no time to talk to prof. & %3RRG0 R A TR E T ﬂ%%-}ﬁ 3)
[FASEYL 5 ARG, #d 1.
HEZ) BB F ik

F R ER $3R FiRAGHFE ARl — 4

not quite far away from each other

TRAHTE

5}

EA
teaching buﬁding 2
%
—R A 8. 9454

you have missed for you.

L)

AT ;t’%zl T
10 m is enough for students to go to different classes, Even if E# %355 i’\L.gou
arrive late, the professor will beunderstandmg, ek, £ £ 2B IRibe R fill ﬁ&hat

@

M 2. F 4 TR E S not necessary. 28] 54045 19 4 2 — 4 jb

4% private ¥, o T X % 4% 4 142 unfair. #4%-F 1 4 have their regular office hours for stude
to ask questions. 4 ¥

)
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A ST AR iR 2 4515 A+ send email )44
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Task 4

[ %398 4#) #l3K# (stimulus discrimination). #4231t sound. smelf
2
(=]

: movement ¥ % &
% stimulus 4 #155. 411161k &7 # recognize/distinguish #aif ¢4 5 &,
R LA b

23

e

P 5 oh—H

g

s 6L

i

[ 6] ) U2 T 59 seal 49 6|F. #H —# whale ™ £ 47 orcas, 275

419,

8

£ orca is
Eie

(=53

}>4
He
harmless to seal, #2*L# 49, &) seal 1k i 7 # predator # harmless 7 #) so%ld F e SO 5]

£
orcas. %w#R*f %) F &+ complex, * %k simple. one note. monotonous,high l&tch sound.
=3

o W
repetitive. over and over again ‘€ filst =i #t 7 2 & %945 Predator. S#HAENT.
escape 7. 4R 4)*| % complex, like music, /L4478 notes 157 £ —¢ with va

1.

W L% B
®

Task S

S

iation. € 1]
stan i *f % % non-predator, harmless. 7 /il £7K keep on eating, # save energy

noA

@ run away.
£
¥
g
£
[F4E8) 44 Monica AR THARXAE. felFH A& LAHET forgot her text book%‘n her
parent's home, #LF 4% LK assignment. tomorrow 7%,
[#E5%])

>

A AR A I 1. KE AR Emily #3505 % borrow. {244 #5F &0

®
]
P
i b R AR
z B )
&
3 . . o i L
A+ do assignment, #RfEFH EAM TS hours later fi kA, KM L, she may onlghave
5 &
little sleep. i#iX 2. &4 @ R4+ drive back to home to get the textbook, ¥ #e HFKE
"Q.

KR4 s very strict, R —RMAELBERT iH 4.
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Task 6

- ; . s s . . - 219 %
22 5 ) @ RAM 7 S48k 848 (comparative marketing ) . #8692 &£ & a5 k42 5]
competitor. it competitor % {¥ inferior. XA § T 4530 515 better

uA

i

(=

ERES 2
. 5 ’ S 3 Bl
1. &% %%, % mention the competitor’s brand name for a lot of times, ﬁ%xll increase

)
T 4% 35 4~ risks: A
3
[=)
=)
consumers’ memory of their products.. #%]: %%

o
soft drink &4/ %34 A Tt % —RP4RAH 65 taste
Bl
better. EAME THF L5, itARIE T Fe) 2 F, SmEMFEaAFe= %, wif Lo FRs
W

1"
THT.RE 285 4. ABEKESY FoE k2. 2R E KT, %2 insult poterm%] customers.

£ 424 AR currently use products of competitors. 5l& 4R &, 446 shampod® | &l k
-

H 4 A

o
) A SR FRE k4 ik beautiful and shining. 4% /% shampoo B. FlU&E kK {KA#4z t?gd hair-.
(=
)
iEAf 22 A k3L /2 M shampoo B feel insulted. H ## 01 & 3§ a4 Sk A H AT é—.‘%ﬁ%ﬁ A1t H B
"

=

A
A A %K they will never switch to A.

b

~ http://item.taobao.com/item.htm?id=21092095168




\
%

x5
W
=
E
B
®
J
z

(=)

¥

Task 1

5
Many cities have traffic congestions (traffic jams). What do you think a city ghould do to deal

=3
with traffic jams and why? Include reasons and examples to support your regponse

£
W
n
1%
T
!
%
A
%
&
il
Task 4 ij\%
1
[ 21984 ). interest boosting ( 3%4%3{4 ) in class. to boost students’ interest ?@j HRINFE
2
EENRGRE—ANFALFEIAELOERANEEF A BRSBGAEES A by showmgthe
O
material of the subject %
kS
8
[4 5] $AR T 2T wife 6961 F. 34692 F 2 —4F P 407 in a high school. 8%
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Task 1

s
Your university is planing to allow students to watch TV in theirs dormitorieg. What is your
(=1

=3
opinion and why? What are the advantages and disadvantages of watching T—‘S‘\ in dormitcries.
Include reasons and examples to support your response.
Task 3
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At gas 1k expensive , &% short way, but the cost can add up fk &4 a short drive wﬂ% cost
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much. #4(% better option, T ¥A#&#—4> switch. she will go back to the bus. #%F f T %
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Task 2

=3
Some people think that employees should be required to wear formal suits t%r their bosses.
Other people think that employees should be required to wear casual clothesiby their bosses.

What is your opinion and why? Use specific reasons and details to support y%lr answer.
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Task 1

(e

A friend of yours is preparing for a presentation. Which way would you reco

mnend your friend
should take? To watch experienced speakers’ presentations or to practice moréin front of many

people. Explain why? Include reasons and examples to support your responsef‘g
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Task 2

Some people prefer a job with a lot of business travels. Others prefer a job W@hout business
your answer.

travels. Which kind of job do your prefer and why? Use specific reasons and %ta!ls to support
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orchestra only can perform once at the end of the semester They practice and rehearse iﬁot So
it is a shame to perform once and the policy will give them more chances to perform 1_{% 2
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to learn musical instruments. It gets harder to learn when older. The man did not learn vidglin
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very young. He had spent quite some time to catch up with others. He thought if he started
learning violin at a younger age, it would be easier for him
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[#i%% %) Animals live in harsh environment and they have developed sc%'ne adaptations to
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survive. In desert, the food was scare. So animals develop two adaptation to %nd enough food
o

%
them themselves. The first adaptation is that animals have to cover large areaﬁéforaging for food

Ei
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with less energy. Kangaroos will jump or hop in the desert looking for food. If %ey run, they
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have to use more energy. By keeping the momentum of jumping or hopping, th%' could search
L

a larger area with less energy. The second adaption is that animals have to find g way to store
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food as fat. Lizards will eat as much as they can when they find small insects or l%irds. They
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store food as fat in their tails so their tails could double in size. When there is a fog%i scarcity,
lizards could use the fat stored in their tails to survive.
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Task 1

b
Which of the following activities would you like to do most if you work in a h(%pital as a

3

volunteer? 1. to talk with patients 2. to read books to patients 3. to talk with E%atients’ family
members. Explain why? Include reasons and examples to support your respor%e.
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Some people prefer to work alone. Others prefer to work with otheis ur in a team. WE

éch kind of
work do your prefer and why? Use specific reasons and details to support your anS\%er.
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Task 4

[ %2195 # ) natural consequence:
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impose the consequence on your child by not interfering

Task 5

Natural consequences are those things that happen in response to your ch11£§ behavior

) e
not actually deliver a natural consequence yourself. Instead, you allow nature gr society to

without parental involvement. These are imposed by nature, society, or anothez%éxerson You do
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can discuss about academic activities in school. ¥4 2. students will learn ﬂaore about their
future career from the mendors.
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[FAER) A A, B 1. %4 34K students are so busy. XA ot f%%ifi they don't
s
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have time to visit office places off campus. Also, there is a Student Center on cagapus to help

them answer these questions and it open all day, which is convenient to students%

e

However,
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most students don't know about it because it hasn't been advertised in appropriat

qaway.
%

(=
more resources may make students confused.
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2. it's enough to get advices from their parents, academic advisor and professor. a
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actually are if they are associated with somethings famous or people prefer.

): People tend to think others are better th% they
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[#ti2# 41 ). the professor takes an example about an election of mayor in his hometown. B} fore
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the election, he was too busy to read any article, to listen to any speeche or anything relate%i, to
: z
get the background. However, there was one candidate from a famous small town which wa“%
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good at business and organize community. What's more, the candidate (% F 4% 2 Jonash)s

z
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mother was a mayor 20 years ago. Therefore, he thought that man has the ability to take this %,
69219,

position and others voted to him too. However, at last, that man wasn't able to work as a mayor

because he didn't bring any business to the city after the election.ik {4 &0 #6466 F A As L& @
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Task 5

1s not sure if he should take the trip to the mountain or not, because he is npt completely
recovered from the cold

[#4 3] The manJim wants to go for a hiking camp with his friends thf@ weekends, but he
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because there are some exams next week 3
{5 % participate the thiking, R @44 5e prepare enough(medicime and warm
the top of the mountain is so chill for a patient
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I salt soils is accumulated during the irrigation. People can use two so
extra salt

z
with this poblem: solutionl. use pipes to lead extra water away, acc ompany with br mg back the
Solution 2.
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Plant some resistent crops which can grow inthe salt soil

v
&
"

[
“! A

%
!’- MII ﬂi

AEFR TR !

e oS

E V’i| i
NEAESY £ )

BES, LAOXIKOU

http://item.taobao.com/item.htm?id=21092095168

—_—



	12月-1月口语大范围_页面_02
	12月-1月口语大范围_页面_03
	12月-1月口语大范围_页面_04
	12月-1月口语大范围_页面_05
	12月-1月口语大范围_页面_06
	12月-1月口语大范围_页面_07
	12月-1月口语大范围_页面_08
	12月-1月口语大范围_页面_09
	12月-1月口语大范围_页面_10
	12月-1月口语大范围_页面_11
	12月-1月口语大范围_页面_12
	12月-1月口语大范围_页面_13
	12月-1月口语大范围_页面_14
	12月-1月口语大范围_页面_15
	12月-1月口语大范围_页面_16
	12月-1月口语大范围_页面_17
	12月-1月口语大范围_页面_18
	12月-1月口语大范围_页面_19
	12月-1月口语大范围_页面_20
	12月-1月口语大范围_页面_21
	12月-1月口语大范围_页面_22
	12月-1月口语大范围_页面_23
	12月-1月口语大范围_页面_24
	12月-1月口语大范围_页面_25
	12月-1月口语大范围_页面_26
	12月-1月口语大范围_页面_27



